7. Question * (5

{2 Points)
- — ¢* cos(xy). Find the x - intercepl
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14, Question *
(2 Points)
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15 Question * [1)

(¢ Points)

Caven the function
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14 Question * 1)
(2 Points)

Let fix,y) -
Winch of the following statements
hest describes the point (1, - 1)?
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1. Question * [T
(2 Points)
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Find the range of f.
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(2 Points) ;
cos(y) sin{x) x40

Lt fx,¥) = d

kvl x=0
Find k that makes f(x, ¥)
conlinuous at the points (0,0).
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@ k-3
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9. Question * [
(2 Points)

Let VA(2.3) ~ (1. 1).
f[z L _) - f(.3)
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9.Question * [%
(2 Points)

Let VA(2.3) = (1. 1).
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8.Question * [Y]
(2 Points)
Letf(x,y) = 2w (£47") How
many critical points f(x,y) has?
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6. Question * 4]
(¢ Points)
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4. Question * [E; ) _'f '
(2 Points) _

Suppose [ is a differentiable function,
muldicl"ne_qlu V) = f(3u -, uz + y).
I-mt;l = :u (e, v) = (2,-1) il

ﬂl-l! =6, p(2,-1)= -7,
2, 1 =1,£2.-1)=9
f(1,3) = 4, g(7.3) = 1,
[,(1.3) = =3, £,(1,3) = 5
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3. Question *
(2 Points)

Find £, (0,0) if
fle,y) = JB(x? — )
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(2 Points)
Find frpy if
fle.¥) = 7
x + Inix)
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